Ons pa3MelleHns 3akasa - guhring@guhring-tools.ru

Pesb6a B rnyxom
OTBEpCTHUU

<3xD

HAZ/C NR15/C HIC HIE HIC
[ ] @) @) O @)
X ] El E [T

TouHocTb xBOCTOBHKA h6

TouHocTb xBOCTOBMKA h6

TouHocTb XxBOCTOBMKA h6

TouHocTb XxBOCTOBMKA h6

788
M2
M10
254
971 * 969 * 1008 1858
M3 M3 M3 M5
M10 M10 M10 M10
256 257 257 255
1883 1859
M12 M12
M20 M20
259 258
977 * 972 * 1009 1861
M4x0,5 M4x0,5 M10x1 M5x0,5
M10x1 M10x1 M16x1,5 M10x1
262 263 263 261
978 974 1860
M12x1,5 M12x1,5 M12x1,5
M20x1,5 M16x1,5 M20x1,5
266 267 265

guhring@guhring-tools.ru
www.guhring-tools.ru

GUHRING I 39




